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QUESTION 1

In VXLAN scenarios, what features can be turned on to reduce flooding of ARP messages between VTEPs?( Multiple
select). 

A. Host Information Collection 

B. Local ARP agent 

C. port isolation 

D. ARP broadcast suppression 

Correct Answer: BD 

 

QUESTION 2

To achieve an on-machine migration in the BGP EVPN distributed gateway scenario, which of the following messages is
required? 

A. Type5 

B. Type4 

C. Typel 

D. Type2 

E. Type3 

Correct Answer: D 

 

QUESTION 3

The following statement about IPSG technology is correct (single choice). 

A. The ip source checkuser-bind check-item command is used to configure VLAN- or interface-based IP packet checks,
which take effect for both dynamic and static table entries. 

B. If an interface is configured as the OKCP Scooing Tust interface, the interface can normally receive DHCP ACK and
DHCPNAK responded to by the OHHNP server and DHCPOffer packets, other untrusted ports cannot receive these
packets properly. 

C. On Huawei routers, ipSG functions can be configured in Vlanif. 

D. The IPSG can perform binding table match checks on IP packets entering and leaving the interface. 

Correct Answer: B 
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QUESTION 4

The switch SWA and SWB are connected together by 2 Ethernet links, where the switch SWA has the following
interface configuration: 

A. Without changing the current configuration, GigabitEthernet1/0/1 and GigabitEthernet1/0/2 can join the same
aggregation group 

B. Because of the different VLANs allowed, GigabitEthernet1/0/1 and GigabitEthernet1/0/2 cannot join the same
aggregation group 

C. After link clustering is configured on both SWA and SWB, if MSTP is enabled on the switches SWA and SWB Both
GigabitEthernetl1/0/1 and GigabitEthernetl/O/2 are the forwarding status of MSTP 

D. Only if the configuration of GigabitEthernet 1/0/2 is changed to match GigabitEthernet 1/0/1 can the two join the
same aggregation group 

Correct Answer: BD 

 

QUESTION 5

The following description of BGP loop protection is correct: multi-select 

A. Any routing information from an IBGP peer is advertised to the other IBGP peers 

B. Any update information received from the EBGP peer that contains its own AS number in the AS-PATH attribute is
discarded via the AS-PATH attribute 

C. Non-RR BGP routers do not announce any updates from IBGP peers to other IBGP peers 

D. BGP routers do not announce any slaves The EBGP peer comes to update the information to its EBGP peer 

Correct Answer: BC 
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